Lord of the Rings Crossword Puzzle

1. Using the Across and Down clues, write the correct answer in the numbered grid below.
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He inherited the One Ring from his
uncle, Bilbo Baggins.

The location where Gollum dies.
The land where Sauron ruled.

Wizard that was most instrumental in
the defeat of Sauron.

Gandalf the Grey meets his apparent
end attempting to defend the company
from this.

She is the Lady of Lorien.
The age of Bilbo Baggins.

A Wizard, the leader of the council of
wizards.

Where the Ents live.

A Man of Rohan, King of the Mark, and
uncle of Eomer and Eowyn.

A Dwarf who is handy with an axe when
orcs are about.

DOWN

1.

13.
15.
16.

17.
22.

A Man of Rohan, he is the chief
counselor of Theoden.

Man of Gondor, the humble younger
brother of Boromir.

Man of the West, he protects the
hobbits and is leader of the Rangers.

The place where Saruman dies.

Town where Aragorn first meets the
Hobbits.

Hobbit, uncle of Frodo and finder of the
One Ring.

Author of The Lord of the Rings.
The daughter of Elrond.

Large tree-like creatures that protect
the forests.

Ruler of Rivendell and father of Arwen.
Frodo's humble servant.
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Balrog

Gimli

Frodo

Bilbo

Ents
Saruman
Wormtongue

Aragorn

Eleventy One
Fangorn

White Mountains
Mordor

Galadriel

Tolkien

Elrond

Crack of Doom

Imladris
Gandalf
Faramir
Arwen
Theoden
Bag End
Bree

Sam
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